


I <0

o lof e

7115

0111




13

¥

¥

1]

.
_f
0

e |
T
| =
= z | i maw
L1 E — 1 zu /—l-—
- - i ui = -
i ol — | (@]




U lE=they

T N S\ % e

B



P.
- ~o -
P -
// \\\
./ \
5,135>1/2>0.3 ,435<1/2><0.3
1,565
\ /
\ /7
N\ ~ P Ve
~ ~
-~ - -
28
o 0.119 73,000
o 0.128 73,000
o 0.0878 73,000
655 54 54 7 770
1,330 110 110 15 1,565
40 611
29 5,135 657
1.3 451
1.4 1,242
106 10,435 1,33
20 3 ’ 916
7.5 8
30 2
5 12

43




150 7/
0 30 / 60 / 2 7 %
54406 54+1.3+8 7+1.4=2 77012
1 6 3 65 642:00'3 840
150 180 180 130
1102953 | 110+1.358 | 15+1.4=2 1,565+12
2 11 6 130 1’123:0'3 1,450
160 330 360 260
|
150 450 1,300
2,957 142 20,783
118 6 831
78.7 1.3 63.9
@ 15 6
(@)
1,900
o 968
0.61
968 =<0.6 =0.61 / =2 1,900




